_ NO. HL-CN-DPST 07/2023

2 DPST RIINIEB KL

ZARYSEIRF S 1S015552, #I1F $32~125, TR, WIER.



02/10  DPST RFIM{ERASHEL www.wxhengli.com

BEER
DPST -32 x50 -ppv A -2F
WAEF ® @ ® @ ®
® - SELPIZ : 3240 50 63 80 100 125
@ X SHIF71 :1...2800
® -8 P= MilmH NS N, PPV=SEIAAKS; PPS= BT
@ BN A= BIHMFX; T = FHliEFFx
Pt TR
BATESERS 15015552, EI#Z ¢32~125, HiFste, AERE AERIAT RECH
AR, ® F—i shigey PR
2 Wik EET F PISELY T -40-80°C
FEmiFs R| MEE®Ee, max120°C
- IR E| BRI LA

- SMERANEE, BATHER.
GEETBHRAWA Y RBEREHEN, GWMETEE,

BHENE, FhK, P
BRUTR: SHETRARETRZETHEFEE. BARSH

TERASY
FAKER ) 32 40 ‘ 50 ‘ 63 ‘ 80 ‘ 100 ‘ 125
HEtnk 1SO 15552

BRHS TR | WA
SO G1/8 Gl/4 Gl/4 G3/8 G3/8 G1/2 G1/2

[I:] : ) [M : ) _/[Iﬁt": SEEITEL | M10x1.25 | M12x1.25 | M16x1.5 | M16x1.5 | M20x15 | M20x15 | M27x2

' ' ' ' ' ' 752 [mm] | 1..2800

P:EMEHE  PPV: SEVRIEEH  PPS: BETEM LR EEE [ TEEEM [ EfE

-BAREH
& 71 [N] FhEEEE [J]
DPST-...-P T B 52 & 32 40 50 63 80 100 125
DPST-.-PPV | FISHEIETER BOITICE, 6bar, ## | 483 754 1178 | 1870 | 3016 | 4712 | 7363
DPST-..-PPS | MiiswEipTEH HIBITIEME, 6bar, BE | 415 633 990 1682 | 2721 | 4418 | 6881
KB hE AR 0.4 0.7 1.0 13 18 25 33
e S VR e BAWARE: .
HEZ ¢ 32 | 40 | 50 | 63 | 80 | 100 | 125 VR V= /% m==s ™
-PPV[mm] | 17 | 19 | 22 |22 [ 31 | 31 | 45 fn?:;z_i’;f;;‘“fﬁﬂ) e
frA=¢=3] Rl AR TS m, % ah B E ZERARERINEXE. HIETREANITFRAPEES,
TEHH BRI ) R
REME TR TERIFIR &M
HZ ¢ 2 |40 [s0 e [s0 |10 |15
TENR E4EES (2 40um LLEEREE)
T{EEH MPa 0.06...12 | 0.04..12 | 0.02..1
RFRIERE -20~80°C
it S T L% 2




www.wxhengli.com DPST RFIEASHE  03/10

ZiaEE
2 = = IR
T | (1] AT E AT BEEN
P L] 2 HEERE
- F . (3 &2 RREEEIEAS
Tid ——— T BRI PUR
= % - EEE POM
_Emr PUR
SMERST
AM [2J+]
L8+
WH VA
L2 PL PL
VD L7 EE

Ul
u2

=2/ =1 13
o i G \—[2]

BG N
G
$80/125 $125
Tl
AF
12 + =R
a1 ¢l ] (1] —FHBL, BELATRERH
] gL, AFTRTARGEE

T- WikEE

EB]I Ty ’:@*’ T T YL + =TS KE
@ + =TI E

WH L8+

ZM++




04/10  DPST RFIM{EASHEL www.wxhengli.com
I

SMRZR~F
5172 ¢[mm] | A-0.5 Bopdll BGmin E+0.5 EE G-0.2 U2+0.1 U1£0.1 KK
32 2 30 16 45 G1/8 28 5.7 5.25 M10x1.25
40 24 35 16 54 G1/4 33 8 4 M12x1.25
50 32 40 16 64 G1/4 33 10.4 5.5 M16x1.5
63 32 45 16 75 G3/8 40.5 12.75 6.25 M16x1.5
80 40 45 17 93 G3/8 43 125 8 M20x1.5
100 40 55 17 110 G1/2 48 135 10 M20x1.5
125 54 60 20 136 G1/2 44.7 13 8 M27x2
512 p[mm] | L2 L3max. L7 L8+0.4 MM¢ PL RT T6+0.3 ZM+1
32 18-0.2 5 6.5 9 12 19.5 M6 32,5 146.1
40 21.3-0.2 5 75 105 16 225 M6 38 164.8
50 26.8-0.2 5 9.5 106 20 2255 M8 46.5 179.8
63 27-0.2 5 9 121 20 275 M8 56.5 195.4
80 34.2-0.2 - 11 128 25 30 M10 72 221
100 38-0.2 75 138 25 315 M10 89 238.8
125 45-0.3 - 10 160 32 225 M12 110 290
5172 o[mm] | VA VD+0.5 WH+2.2 7J+1.8 =1 =2 =3
32 44, 10 25 119.1 10 16 6
40 44, 105 28.7 133.9 13 18 6
50 44, 115 35.6 1418 17 24 8
63 44, 15 35.9 157.1 17 24 8
80 44, 15.7 454 1736 22 30 6
100 4, 19.2 493 187.5 22 30 6
125 6.03 205 64.1 225 27 41 8




www.wxhengli.com

DPST RFIEASHE  05/12

ZERAFR
LB %= EREEEY
XA+
HE: XS AU___AO
P i
- o
i T
‘ <
\S T 1T T
| i R S
<< TR
+=INL{ETIE us
F#2 ¢[mm] ABod AH AO AT AU SA TR us XA XS
32 7 32 6.5 4 24 142 32 45 143.1 46
40 10 36 9 4 28 161 36 54 161.9 52.7
50 10 45 9.5 5 32 170 45 64 173.8 62.6
63 10 50 12.5 5 32 185 50 75 189.1 62.9
80 12 63 15 6 41 210 63 93 214.6 80.4
100 14.5 71 17.5 6 41 220 75 110 228.5 84.3
125 16.5 90 22 8 45 250 90 131 270 102
FA/FB i | fGi& =5
R EHWN ] u
-
- - gy RN DRI [ N
-
- -
Wl ] M
ZF+
+=INTIE{THE

£I#2 p[mm] E FBpH13 MF R TF UF w ZF
32 45 7 10 32 64 80 16 129.1
40 54 9 10 36 72 90 18.7 143.9
50 65 9 12 45 90 110 23.6 153.8
63 75 9 12 50 100 120 239 169.1
80 93 12 16 63 126 150 29.4 189.6
100 110 14 16 75 150 175 333 203.5
125 132 16 20 90 180 210 45 245




06/10  DPST RFII{EASEL www.wxhengli.com

REFR
TA/TB #i / [E3REER!
MR s
Y, gy G0
= -
o |
> 4 |
XH TK
XL+
ST TR
172 p[mm] ) c3 TDGe9 TK L ™ us XH XL
32 71 86 12 16 12 50 45 18 127.1
40 87 105 16 20 16 63 54 18.7 143.9
50 99 117 16 24 16 75 64 23.6 153.8
63 116 136 20 24 20 90 75 23.9 169.1
80 136 156 20 28 20 110 93 31.4 187.6
100 164 189 25 38 25 132 110 30.3 206.5
125 192 217 25 50 25 160 131 40 250
T2 B
M DA
ELE : RIS -
= 7\ 21NN T =
| X
- TH
UL
T
112 p[mm] CR®D11 | DAQH13 | FKp £0.1 | FN Fs H1 HBGHI3 | KE NH TH#0.2 | UL
32 12 11 15 30 105 15 6.6 68 18 2 16
40,50 16 15 18 36 12 18 9 9 21 36 55
63, 80 20 18 20 40 13 20 11 11 23 42 65
100, 125 25 20 25 50 16 24.5 14 13 28.5 50 75




www.wxhengli.com DPST RFIIUEASE  07/10

REHR
CAQ BB B A
BRI —

MEL EE -1

|

@%
w e EHRH+—t+——— A z
L y
E‘P l -
EX XC+ EL
+=ITETHE

112 ¢[mm] CN E EP*0.2 EX FL%0.2 LT MS RA+1 TG XC
32 10+0.013 45+0.2/-0.5 10.5 14 22 13 15+0.5 14.5 325 141.1
40 12+0.015 54-0.5 12 16 25 16 17+0.5 17.5 38 158.9
50 16+0.015 64-0.6 15 21 27 16 20+0.5 18.5 46.5 168.8
63 16+0.015 74.5+0.5 15 21 32 21 23-0.5 23 56.5 189.1
80 20+0.018 92.2+0.8 18 25 36 22 28-0.5 25 72 209.6
100 20+0.018 109+1/-0.7 18 25 41 27 30£0.5 95 89 228.5
125 30+0.018 132+1/-0.7 25 37 50 30 39£0.5 100 110 275
CA P HER

MHL EHE

" O i D
e
[¥3 e AW/ )
- f_]/ S
L]
FL
B XC+
+=INL{E1THE

112 Pp[mm] CDOH9 E EWh12 FL£0.2 L MR G XC
32 10 45+02/-05 | 26 2 13 10 325 1411
40 12 54-0.5 28 25 16 12 38 158.9
50 12 64-0.6 32 27 16 12 465 168.8
63 16 75-0.6 40 2 21 16 56.5 189.1
80 16 93-0.8 50 36 2 16 72 209.6
100 20 110+0.3/-0.8 | 60 41 27 20 89 2285
125 25 131-0.8 70 50 30 25 110 275




08/10  DPST AFIM{EASHEL www.wxhengli.com

ZEAFN
CB WEEA!
] E
M EH8 T
° g 2 wl © EB;[]@‘: o
o j OF
CcB L
uB |FL
+=IT eI XCr
12 p[mm] CBh14 E EKOHI/e8 | FL0.2 L MR-0.5 TG UBh14 XC
32 26 45+0.2/-0.5 | 10 22 13 8.5 325 45 141.1
40 28 54-0.5 12 25 16 12 38 52 158.9
50 2 64-0.6 12 27 16 12 46.5 60 168.8
63 40 75-0.6 16 32 21 16 56.5 70 189.1
80 50 93-0.8 16 36 2 16 72 90 209.6
100 60 110+0.3/-0.8 | 20 41 27 20 89 110 228.5
125 70 131-0.8 25 50 30 25 110 130 275
DW Z{IE4AH
ZESR Y 2+ _F1_ 2+
A EHERES
" R
B NREE R ] j ® S 1 ® N
AN T i “ol[l Ille” O -
o {’)m | Uy
Q(D m
o
_ LM=MIE MM E
R F1 7J+1.8 BT : fion : fn
£ ¢[mm] max {742 [mm] SR MR RN AL SR M T ABEIN L
32 27 119.1 500 123 1234
40 27 133.9 800 o
50 2 141.8 800 %] _ﬁmngj
A BC D
63 28 157.1 700 = A BC D
80 38 173.6 1000 e
100 38 187.5 900 = =&
125 48 225 1000 =@ [ ¥ = B




www.wxhengli.com

IMETTH—E

DPST RFIMERASEL

09/10

89
ég!gé? G;E%%ﬁalo
-RERG KM ER
F5 1BiRS E= R E2 5 A
1 PC IR¥GEEK HiB, ATEENEMERE
2 NSE AT ATFRYRE
3 FCZ Pk E RIPSEL CEEN. BHENEEA) RILZHAREMEN, BLESRER
4 C AT CDX-50R-1.3(3EF8 CJ)
5 cJ AT 58 BT $32-63 112
6 C B FF CDX-21R-1.3(3E C2)
7 (o4 M XAY BT $80-125 112
8 YY &iREL TEKE
9 CBZ EANERXE -
10 YF Y Bk HIMERLL
11 CBG HIF 2 -
12 [ | Bl -
13 Y Y Bk AFSEE— N TEERIIERD
14 FD Ehigk AFHMEERANAERE




10/10  DPST AFIM{EASHL

IMETTH—E

www.wxhengli.com

- RERGRMGESR
FS 18IS Z EESILE
15 FA/FB |l | EE= ATFHASRETERTAS THAES FCZ MRS L
16 TA/TB/TC 1/ / IR BT AR ETREMEAS T4 S DADB BiAmE L
17 Tz IR R 5 TA/TB/TC/TR B2 & A
18 LB i R RE R A
19 DX SHET AFRIFIVESEISZSHE R RN
20 CB WE BFins
21 LN H#TURIEE 5 CBEEA
22 LNQ2 KRB 2 HERE S
23 CA BE BTz
24 CAQ BEWMA BFimE
25 LNQ TR R AR P ERE S
26 DW ZBREAN BHENMIFERNSIDERAR — N SUESE
- SEE M
B ERERE ¢ BS Ex10i ERHRE ¢ BS
BRESL YY | #53%
16 YY-M6 32 I-M10X1.25
20,25 YY-M8 40 I-M12X1.25
—
32,40 YY-M10x1.25 @) 50, 63 I-M16X1.5
50, 63 YY-M12x1.25 . 80, 100 I-M20X 1.5
80, 100 YY-M16x1.5 125 I-M27X 2
125 YY-M20x1.5
FohiEsk FD
12 - 12 FD-M5
16 Y-M6 16 FD-M6
20,25 Y-M8 20,25 FD-M8
32,40 Y-M10x1.25 32,40 FD-M10x1.25
50, 63 Y-M12x1.25 50, 63 FD-M12x1.25
80, 100 Y-M16x1.5 80, 100 FD-M16x1.5
125 Y-M20x1.5 125 FD-M20x1.5
- C BEMEF %
WX, BT TEUE
| mapst FEiH i UK m me EREE ¢
BRftS
TMESENER, | PNP B, =& 1.3 CDX-50P-1.3 32~63
_ S SERETF NPN AR, = 1.3 CDX-50N-1.3
o R 1.3 CDX-50R-1.3
FER, %
2.5 CDX-50R-2.5
EIMLETSHENER, | PNP AR, =& 1.3 CDX-21P-1.3 80-125
P 5 SEETE NPN BmEx, =& 1.3 CDX-21N-1.3
o= R EE®, -0 13 CDX-21R-1.3
2.5 CDX-21R-2.5




